
nqueens 

(CP: “hello world”) 







Homework hw00 



Peter Stuckey myth? 

















Back to nqueens 











How might it go? 



















FAIL 





Representation/model 
8 constrained integer variables 
Domains [0..7] 
A variable represents a row 
v[i] = j  queen on row i, column j 
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Representation/model 
Constraints 
 no column attacks 
   v[i] ≠ v[j] for all i ≠ j 
 no diagonal attacks 
   |v[i] – v[j]| ≠ |i – j| 
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N = 200 NQueens 1 



N = 200 NQueens 2 



Harder questions 

Could we have a different representation? 

Could we solve it a different way (other than systematic search) ? 

Does the problem get harder or easier as it gets larger? 

What happens if we start with some queens already on the board? 



Harder questions 

Could we view nqueens differently, maybe as a permutation problem? 
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